


(3) Right Bisector (Perpendicular Bisector) = a perpendicular line
drawn through the midpoint of a line segment

A AN
erpendicular Bisector
[%
B M C
A 5

To get equation, find...
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Example...

Determine the equation of the perpendicular bisector of
the line segment with endpoints (-4,3) and (2,7).




Example: Find the equation of the perpendicular bisector of a
chord that has endpoints C (-1, 1) and D (5, 3)
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Warm Up

Given triangle ABC, with vertices A(4,-1), B(-2,5)
and C(-6,-1), find...

(1) the equation of the median drawn from A

(2) determine the length of the median drawn from C
(2) the equation of the altitude drawn from B

(%) the equation of the perpendicular bisector

of side AB
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